[m] P [m]

(=] -&iﬁ

hyte.co/y70 hyte.co/nexus-y70

SN
&


http://HYTE.com
http://hyte.co/nexus-y70
http://hyte.co/nexus-y70
http://hyte.co/nexus-y70
http://hyte.co/nexus-y70
http://hyte.co/y70
http://hyte.co/y70
http://hyte.co/y70
http://hyte.co/nexus-y70
http://hyte.co/y70
http://hyte.co/y70

ENG

FIN

FRE

GER

HUN

HYTE Y70

Contents

e Y70 E-ATX Case

e Instructions

(A) MB and SSD Screws (M3)
(B) HDD Screws (6-32)

(C) PSU Screws (6-32)

(D) Standoff socket

(E) PC Headset Adapter

(F) DisplayPort Male to Male Cable
(G) Zip Ties

(H) Cable Straps

Sisalto

e Y70 E-ATX -kotelo

e Ohjeet

(A) Emolevyn ja SSD-ruuvit (M3)
(B) HDD-ruuvit (6-32)

(C) Virtaldhteen ruuvit (6-32)

(D) Pidikekanta

(E) PC-kuulokemikrofonisovitin
(F) DisplayPort-uros-uros-kaapeli
(G) Vetoketjut

(H) Kaapelilenkit

Contenu

o Boitier Y70 E-ATX

e Instructions

(A) Vis de carte meére et SSD (M3)
(B) Vis de disque dur (6-32)

(C) Vis d'alimentation (6-32)

(D) Entretoise

(E) Adaptateur pour casque PC
(F) Céable DisplayPort méale-méale
(G) Attaches zippées

(H) Attaches pour cébles

Inhalt

* Y70 E-ATX-Gehdause

e Anweisungen

(A) MB- und SSD-Schrauben (M3)
(B) HDD-Schrauben (6-32)

(C) PSU-Schrauben (6-32)

(D) Abstandsbolzen

(E) PC-Headset-Adapter

(F) DisplayPort-Stecker auf Stecker-Kabel

(G) Kabelbinder
(H) Kabelbinder

Tartalom

* Y70 E-ATX haz

e Hasznalati utasitasok

(A) Alaplap és SSD csavarok (M3)
(B) HDD csavarok (6-32)

(C) Tdpegység csavarok (6-32)
(D) Tavtartd

(E) PC fejhallgatd adapter

(F) DisplayPort apa-apa kdbel
(G) Cipzdrkotozok

(H) Kabelkotelek

o
o
z

POL

RUS

SPA

Innhold

e Y70 E-ATX-kabinett

e Instruksjoner

(A) MB- 0og SSD-skruer (M3)
(B) HDD-skruer (6-32)

(C) PSU-skruer (6-32)

(D) Avstandsbolt

(E) PC-headset-adapter

(F) DisplayPort hann til hann-kabel
(G) Glidelasband

(H) Kabelstropper

¥4
Zawartos¢
e Obudowa Y70 E-ATX
e Instrukcje
(A) Sruby do ptyty gtéwneji dysku SSD (M3)
(B) éruby do dysku HDD (6-32)
(C) Sruby do zasilacza (6-32)
(D) Dystans
(E) Adapter do stuchawek PC
(F) Kabel DisplayPort meski - meski
(G) Spinacze kablowe
(H) Paski do kabli

Conteudo

e Caixa Y70 E-ATX

e Instrucdes

(A) Parafusos para MB e SSD (M3)

(B) Parafusos para HDD (6-32)

(C) Parafusos para fonte de alimentacgdo (6-32)
(D) Espacador

(E) Adaptador de headset para PC

(F) Cabo DisplayPort macho para macho
(G) Amarragdes com ziper

(H) Abracadeiras para cabos

CopepixaHune

e Kopnyc Y70 E-ATX

e NHcTpyKumnmn

(A) BUHTBI ANs MaTepuHCcKoW nnatel 1 SSD (M3)
(B) BuHTbI Ana xecTkoro gucka (6-32)

(C) BuHTbI ansa 6n10Ka nuTaHua (6-32)

(D) Pazbem gnsa cToiikm

(E) ApanTep ana HaywHUKoB Ha MK

(F) Ka6enb DisplayPort My>KcKoi - My»<cKoW
(G) 3un-neTnu

(H) KabenbHble cTAXKM

Contenido

e CajaY70 E-ATX

e Instrucciones

(A) Tornillos de placa base y SSD (M3)
(B) Tornillos de disco duro (6-32)

(C) Tornillos de fuente de alimentacién (6-32)
(D) Casquillo espaciador

(E) Adaptador de auriculares para PC
(F) Cable DisplayPort macho a macho
(G) Bridas con cremallera

(H) Correas para cables

SWE

CHI

CHT

JPN

KOR

Innehall

* Y70 E-ATX-kabinett

e Instruktioner

(A) MB- och SSD-skruvar (M3)
(B) HDD-skruvar (6-32)

(C) PSU-skruvar (6-32)

(D) Avsténdshylsa

(E) PC-headset-adapter

(F) DisplayPort-hane till hane-kabel

(G) Dragkedjor
(H) Kabelstraps
s =a
BEAR
+ Y70 E-ATX #1348
- BEH
(A) ERFNESTRRIRZ (M3)
(B) ML IR (6-32)
(C) BBiRiR# (6-32)
(D) EHEESL
(E) BTt fesk
(F) DisplayPort/ 3L E /3 sk
(G) &t
(H) BELEARN,

.
BENE

« Y70 E-ATX #48

- g

(A) EHIRFOE EEBERIRAR (M3)
(B) HIM IR IR4% (6-32)

(C) BiFIRL (6-32)

(D) At EmE

(E) B MR

(F) DisplayPort/ABEZI 2N FEAR
(G) 3Laz%Es

(H) ZE4RBEHTAG

Ry Ir—URE
Y70 E-ATX 77— X
- (EFIBOAE

(A) RH—K— K& LT SSD AR (M3)

(B)HDD AD # ¥ (6-32)
(O)EBRI=v NHORY (6-32)
D)YREYRFT VA b
(E)PCAy Rty h7HTH—

(F) DisplayPort # R - #X =7 )L

G)Yy7Ta4
H)r—TLAS YT
mj7|X| &=
« Y70 E-ATX # O] &

=

|12 E 8l SSD LEAF (M3)
D LtAL (6-32)
FX| LEAL (6-32)

Q

i
ox

[>T
fo f

[H

B

o

‘O
of Mo
In 1Mok
=
<2
2

oC

g #ol=

oo
»n
=5
o
<
B
o
-
ot
ox m



l///////////////////////////////////////////////////////////////////////////////////////////////////////////////////Mﬂ/
—_——————————————— <A

105mm max
90mm optimal

180mm max

,—k-

z

72227857
22757
LY,

722/

T T T T T TT

_:——‘ll

D

Zd Q227522 _
@é% ome&ﬁ-l-g]l

USB3.2Gen1

Combo Audio

USB3.2Genl

USB 3.2 Gen 2 Type C

Low Profile Blue Mechanical Switch Power



> SNV - ‘;.
S P 7\
!x/ A j \ & ]
R \ i
\}

up to 390mm(L)/105mm(H) 140mm/280mm



ions

Assembly Instruct

hjeet

Asennuso
Instruct

de montage
tung

ions

Aufbauanle

W
\ \ \SII00000072
\ \

utmutato

[ 4
|

és

Osszeszerel

ing
2u

Isn

Monteringsanv

Instruk

ta
de montagem

cja mon

~

oes

H Instruc

MHcTpyKuma no c6opke

Instrucc

2
(1]
i
c
o)
£
()}
S

iones

for montering

Instruktioner
B iR

THI

aH

B 4B%EHEA
B ABAILT
2 =2 XA
g a



\? A:\_S\//M//V/////&’/AV:\'/,'/ —




2x140mm

2x120mm




3x120mm







up to 280mm

up to 360mm













9 RUIIITITIRTR
A o




7 =y

A31



AL

w EMNNY

o =
N
e

ANV \@ =TT




HUN GER FRE FIN ENG

NOR

[PoL

Do not put weight on corner when glass is removed.
Install glass panel back when transporting.

Al laita painoa kulmaan, kun lasi on poistettu. Asenna
lasipaneeli takaisin kuljettaessa.

Ne pas mettre de poids sur le coin lorsque le verre est
retiré. Réinstaller le panneau en verre lors du transport.

Kein Gewicht auf die Ecke legen, wenn das Glas entfernt
wird. Glasplatte wieder einsetzen beim Transport.

Ne helyezzen sulyt a sarokra, amikor az Uveget eltavolitja.

Uveglapot telepitsen vissza szallitaskor.

Ikke legg vekt pa hjernet nar glasset er fjernet. Monter
glasspanelet tilbake under transport.

Nie ktadz ciezaru na naroznik, gdy szkto jest usuniete.
Zainstaluj panel szklany z powrotem podczas transportu.

N3&o coloque peso no canto quando o vidro é removido.
Reinstale o painel de vidro ao transportar.

JPN CHT 1 BEE EBED RUS

KOR

He Harpy»xaiTe yron npu cHATOM cTekne. 3aMeHuTe
CTEK/0 NPU TPAHCMOPTUPOBKE.

No apoye peso en la esquina cuando el cristal esté
desmontado. Vuelva a colocar el cristal cuando lo transporte.

Lagg ingen vikt pa hérnet nar glaset ar borttaget. Satt
tillbaka glaset vid transport.

BT BIBEREEDRE. ERiHESSHIRER,

FTIIEEREIRRE, BN SIIERE].

ASRERYILEOI—F—EEETEE A,
BOBEHTHTIRAERLTLEE,
FEE M =ol= ZM2Q FAE
Ot 249te = BtEA| Q2|8 CHA| ZESHA Q.

=X s
=



ENG

FIN

FRE

GER

HUN

NOR

POL

Warranty Length for Parts

Y70 Computer Case - 3 Years

HYTE Limited Warranty

This product is covered by a limited warranty, please visit HYTE.com to
obtain a full copy of the written warranty or contact us using one of the
methods below.

Osien takuuaika
Y70-tietokonekotelo - 3 vuotta

HYTE Rajoitettu takuu

Tama tuote kuuluu rajoitetun takuun piiriin, lue koko kirjallinen takuukopio
osoitteessa HYTE.com tai ota yhteytta kayttaen alla olevia menetelmia.

Durée de la garantie pour les piéces
Boitier d'ordinateur Y70 - 3 ans

Garantie limitée HYTE

Ce produit est couvert par une garantie limitée, veuillez vous rendre sur
HYTE.com pour obtenir une copie compléte de la garantie écrite ou nous
contacter en utilisant I'une des méthodes ci-dessous.

Garantiedauer fiir Teile
Y70 Computer-Gehause - 3 Jahre

HYTE eingeschriankte Garantie

Dieses Produkt unterliegt einer beschrankten Garantie. Bitte besuchen Sie
HYTE.com, um eine vollstandige Kopie der schriftlichen Garantie zu erhalten,
oder kontaktieren Sie uns Uber eine der unten aufgefihrten Methoden.

Alkatrészek garanciaidotartama
Y70 Szamitégéphaz - 3 év

HYTE Korlatozott garancia

Ez a termék korldtozott garancidval rendelkezik, kérjik, latogasson el a
HYTE.com weboldalra a teljes irdsos garancia mdsolatdért, vagy lépjen
kapcsolatba velink az aldbbi médszerek egyikével.

Garantilengde for deler
Y70 datamaskinkabinett - 3 &r

HYTE begrenset garanti
Dette produktet dekkes av en begrenset garanti, vennligst besok HYTE.com

for a fa en komplett kopi av den skriftlige garantien eller ta kontakt med oss
ved a bruke en av metodene nedenfor.

Dtugosé gwaranql na czesci
Obudowa komputerowa Y70 -

HYTE Gwarancja ograniczona

Ten produkt objety jest gwarancja ograniczona, prosze odwiedzi¢ HYTE.com,

aby uzyskad petna kopie pisemnej gwarangji lub skontaktowad sie z nami,
korzystajac z jednej z ponizszych metod.

~ .
Duracao da garantia para pecas

Gabinete de computador Y70 - 3 anos

Garantia Limitada HYTE

Este produto estd coberto por uma garantia limitada. Por favor, visite
HYTE.com para obter uma cépia completa da garantia por escrito ou entre
em contato conosco usando um dos métodos abaixo.

RUS

SPA

SWE

CHI

CHT

JPN

KOR

CpOK rapaHTUN Ha peTann

KomnbtoTepHsbiii kopnyc Y70 - 3 rona

OrpanunverHan rapanTua HYTE

OTOT NPOAYKT NOKPLIBAETCA OrPaHUYEHHOIN rapaHTueit. MoxanyiicTa,
nocetute HYTE.com, 4To6bl MOAYYUTL NONHYIO KOMWIO MUCbMEHHOW rapaHTUn
VNN CBSAXKUTECH C HaMW, UCMONb3YA OANH N3 HUXKENePeUnCNeHHbIX METOA0B.

Duracién de la 92 arantia para piezas

Caja de computadora Y70 afos

Garantia limitada de HYTE

Este producto estd cubierto por una garantia limitada. Por favor, visite
HYTE.com para obtener una copia completa de la garantia por escrito o
contactenos utilizando uno de los métodos a continuacion.

Garantilangd for delar
Y70 Datorchassi - 3 ar

HYTE Begransad garanti

Denna produkt omfattas av en begransad garanti. Besok garna HYTE.com for
att fa en komplett kopia av den skriftliga garantin eller kontakta oss med
nagon av metoderna nedan.

Y70HL58 - 36

HYTE] RS

A= SREERRE, EHEHYTEComAMEZHRERES, REAUTS
KEKRHEA.

{REHA
Y70#L58 - 36

HYTE/RE{RE]

;E%E@?Eﬁﬁ PRIRE, ERTEHYTE.comTHMESREE, HEBBTIIEA

03 O (RS HARS

Y703 Y Ea—4245—2 - 34/

HYTERR ERE

COBGICFBRERIEASBRASNET . HYTEcomlZ7 7 R LTRIEED
EEAEAE—FAFTEH. UFOLTALOFETEENEDE CESL,

2E 8277
Y70 AFH A o|A - 34
HYTE X3t 25

O] HZ0f& Mot 2350| H&L| M, HYTE.comS
|

| FESI0] AB BEM HE
S E2L ot Y T SHLHE AH8 0] SAt0] 2213

SHAZ| BEEFLICH

H
=

oo
==

Support@HYTE.com
HYTE by iBUYPOWER | 529 N Baldwin Park Blvd.,
City of Industry, CA 91746, USA


http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
mailto:Support@HYTE.com
mailto:Support@HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com
http://HYTE.com

	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18

